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- Entrance Exam : Economics
I Multiple Choices (30% °
- 1. ‘U=x+y, they originally

e} None of the above

a)24 - b)12

a)
plant.

b)
plant.

2. James earns'ls dollars hour.
He has 72 hours a week avai
function is U(C,R)=CR wheie C Ts-Hel

hours of leisure. How many hours per week will he work?

SEE 3%)
doqt“‘i‘ﬁ‘énd o respectlvely Your income was,

720. The price of x drops to to 8 r\“ﬂl idh of the following is true?
a) The income effect | increa f s{—ﬂ'ﬁg varjtity of y by 90.

'b) The Hicks substitution effect i 1ncreases the quantity of 'y by 90.
¢) The Hwks substitution effect increases the quantity of x by 80.
d) The i income effect increases the quantity of x by 80.

| S e
Jjas 'ﬁzo non-labor income per week.
ablgfﬂér[elﬂ

ier labor or leisure. His utility

ars worth of goodé and R is

c) 36 dy 15

3. The marginal cost for a muitiplant mon‘opolist is equal to

s riiod

the horlzontal sum of the™ rpargf I—éost of production from each
-the vertical sum of th.e,dmja;gﬁmhlmnbst of plOdU.Cthl’l from each

- ¢) the marginal cost of the largest plant.

d) the marginal cost of the smallest plant.
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4. The practice of charging different consumers different prlces for the
same product is known as

a) price discrimination. mtiw)mbgahd{mgl c) tie-in sales:
d) two-part tariffs. r:j
abroad = $889, taxes = $869 transfers recelved from the government
| = $296, interest payments on the government's debt = $103,
consurﬁption = $8148, ‘and government purchases = $185. The
cbuntry had private saviﬁg equal to | ;
a) $285. b)$3850. ¢) ,$23 7. —d)]$2112,
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6. The margmal product of labor-— fm]lsas red in umts of output) for
Expando Corp. is given by .. R
MPN = 4(400 - ) -
where A measures productivity and N is the number of labor hours
used in production. Suppose the price of output is $3 perunit and A =
2.0. What will be the demand for laboxi 11i‘the nominal wage is $187
a) 107 b) 197 e)é*? “"“‘“d)

*WJ

7. An economy has full—em}gl J menf oytput ~of 5000. Government
| purchases are 1000. Desired consumption and desn‘ed 1nvestment are

: glven by
=3000-20007+0.10¥ ¥ =1000 - 4000

where Yis output and r is the real interest rate, The real interest rate

~ that clears the goods market lﬁ“"eqi,thOF

a)8.33% b)25% ‘@?%j :%)125/
|7
O

5. Ina gwen year a country 3’ DP $9E41 net factor payments from -




FE :

5

Iﬂ:ﬁﬁ?éaﬁlmJkﬁiﬂ;+—tﬂ¥$J$$$ﬁiépkﬁﬁ§?

| | | LR |
RRE ﬁfﬁ k= 1 ACRFHES + REERIER » T8 o
\ | . 2REMARESREL  BAITRES
241 o - 3IRAIE - BESHEE  REAMSHE -

ZISEE\.“EE
% (|
% 3H

8. Keynesian economists believe that in the short run
a) money neutrality does not exist and prices do not adjust rapidly.
b) money neutrality exists ang. ,prn;gg] ac}msj; rapidly.
c)money neutrality does not e:ﬂst {and rces adjust rapldly
d) money neutrality exists andjrlf% d¢ not adjust rapidly.

R

9. If you expect a general price increase of 5% this year and the price
of the hé.rhburgers you sell increases by 10%, you would conclude
that the relative price of yQur good has
a) declined, and you would decrease, your output.

frree
b) declined, and you would 1nrre§y0trroutput.

T

¢) increased, and you would 1nirea§gyjo qutput.

d) increased, and you would deq rsgsew‘?mygllg;:)utput.

10. A firm faces the followmg relationship between the real wage it pays

and the effort exerted by its workers.

Real Wage Effort (F)

;10 ' 20
11 t \24
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—hp
The marginal product of labor [f‘Orithls! ﬁrl‘n is given by MPN = E (100
- N)/9. How many workers will themf“imr;n employ"

a)88  b)8O0 . )92 d) 96
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- IL Problem (709 )
1 Suppose there is only one ice cream stand in town. The marginal cost

per hour for an ice creafi 8tafy{ 19 $7.00. The demand péf hour for:

ice cream isp=5-—q. M:}

(I)What is the proﬁt maxjmizihg oubput level per hour and price

level per hour for the ice cream stand? (59%)

(2) How much profit will the owner of the ice cream stand earn‘? (You

must provide cornpletlve calculation) (5 %)

(3) Show your figures (2 % )

- _
(4)Find consumer surplus, "pro udér smplus and Deadwe1ght loss
(%) R ]
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2. Suppose ABC Corporation is a monopolist with three plant facilities.
The marginal cost for Facility A is 5 + g,, the marginal cost for

F acility B is 8 + qg, and the marginal cost for F acility C is 10 + qc.
~ The demand for the industry isp= 14 — 0 Sq
B

(1)How much should ABGQ‘@Ppm"anorl produce to maximize proﬁt‘?

(39%) ) et \
L
(2)How much should be produstd-imreaet, facility? (39%)
~ (3) What price should the firm charge for each unit of output? (39 )
(4)How much profit will the owner of the ice cream stand eam‘?( 3%)

(5)Show your figures (394 ).

P e el
B
MMMMMM rm
i e T
1 7

T "\nuwmmﬂwj




@ﬁ%%lmkﬂii@+tﬂiiﬁ %ﬂiiz\m%uﬁﬁﬁa S BEBE

S T BT T
#E : RS ﬁﬁﬁ MEA=E IHRAB(EE  NEMEES . TU |y L
| L. 2EEWERAERSL  TATTFEHA | T ,
fmag . 241 o L RBE- BEEFEE  REAMSRE . ¥ L H

3. An economy has full-employment output of 5000. Government
purchases are 1000.‘Désired consumption and desired investment are
given by Lo - }

¢t =3000 - 20007 + 0.10x. s E ‘J

= 1000 - 4000~ "'“] F |
where Y is output and r is the‘ex ech

‘reél interest rate.
- (1) Find the real interest rate that clears thé goods market. Assume that

output equals full-employment output.(1%)
(2) Calculate the amoﬁnt_ of saving, investment, and consumption in
equilibrium.(6%) | _
(3) If a shock to wealth causes—t }smed consumption to decline by 200

(so that the new equatlo fo'r*dem ed consumption is
¢t = 2800 - 2000 + 0. 110); MR
find the equilibrium (i) real interest rate (ii)saving (iii)investment

(iv) consumption. (8%)

4. Desired consumption is ¢4 = 2000 + O 9Y 100,000 - G, and desired |
investment is M =1000 - é}ﬁ,!lQM l«imoney demand is MY/p=v-
6000i. Other vanables are.. ™ = OFB G =500, ¥ = 1000, and M =

2100, | I JW A
(1) Show IS and LM equation and Find the equilibrium values of the

real interest rate, consumption, investment, and the prlce level,
- (10%) |
(2) Suppose government. purchase> decline to 400 What happens to the
variables listed in part (1)? Ig-fispat-peticy neutral?2(5%)

o

- (3) Suppose government purehas riset¢ 600. What happens to the

M

variables listed in part ( 1)‘?115 rtﬁsefig”t}re perfect crowding-out effect?
What is the amount of the cfﬁwdiﬁ“g‘"‘“ﬁ”ﬁ‘t effect?(10%)




